atl1*CurMon:Entry$

5
=
2
T
0.04]
0.03- |
0.02|-
0.01
I:I_I I 1 1 | L1 1 1 | [ 1 | L 1 1 1 | L 1 1 1 |H1ﬂ3
0 100 200 00 400 500

rund797 000 at atl1.png

Entry$

16000

14000

12000

10000

8000

6000

4000

2000

atl1*CurMon {ErrorFlag==0}

evilree

Entries 412577

Mean 0.04408

Std Dev  0.001317

l | l 1 | l l
0.044 0.046 O

048 0.05
atl1 *CurMon

asym_atl1/ppm:pattern_number {ErrorFlag==0}

40000 8
— =
- g oy
0000 % o S e B
ST G S5 LN o Y S
20000 -
10000
R e
10000 H-
2000000 [ [ | LLLLVLLLVLLLLLT L] LLT L
TR BTN Nl N B
_Bnnnn__ " }{}{ }{}{}{ s }}E}{ et }{}{}{}{}{ i}{}{}{}{}{
- et e et et O S 4
40000 | * | | | |
0 10000 20000 30000 40000 50000 60000

pattern_number

asym_atl1

= Entries 51521
180

_ Mean -12.53
170 —

N Std Dev 1719
160 Underflow 1.872e+04
150 :_ J [ Overflow 1.852e+04
140 [ Hl ]
130F d
120 .{

110 h

=1 1 1 1 | | I I | | L1 1 1 | | I O | | L1 1 1 | | I I |
—3000 2000 —1000 0 1000 2000 3000

ppm




atl2*CurMon:Entry$ atl2*CurMon {ErrorFlag==0} asym_atl2/ppm:pattern_number {ErrorFlag==0} asym_atl2

16000F = B Entries 51521
0.018 - thTree 40000 . U o« % i
I : A A 4 s s oo A S | M 0.8199
. 14000 Entries 412577 S g o S T IV Lo A PSS - . -
0.016 i 30000175 x7 . [ixTard Tk ¥ T 1178 [15 74517 130 [ v
i 1| % : | Std Dev 1725
0.014§ 12000 — Mean 0.01505 20000 H- i
- i i = Underflow 1.993e+04
0.012F i ! 120[ J '
: 1 DDDD __ Std Dev  0.0006266 ‘I Dnnn ] [ [] m : [ Overflow  2.008e+04
0.01 - A i i
- - 0 i HRBE nlL| | | | ” T -
B 8000 110
0.008— B I N [
B B 10000 - i
0.006— g | 6000 — ' i i
E - 20000 E_ 100 = 1 h
0.004— 4000+ 1| | L NERNNENR NN il I
: ; 30000 ﬁ%;;;;;{%xgm% S _
D-DDE__ EDD[]_— g :xﬁ:x: * b § }{}{i Sl B H%}{x}: :x}{ B
: - 40000 y X X x 90~
0 - I s . -
_I ] ] ] ||| ] ] | ] ] | ] ] ] ] || ] ] ] |H‘|ﬂ3 —|IIII| ||||||||||III|III I|||| _EDDUD_I||||||||||||||||II|IIII|IIII —IIII|||||||||||||II|IIII|IIII
0 100 200 00 400 500 [?.EI‘I 2 0.013 0.014 0.015 0.016 0.017 0.018 0 10000 20000 30000 40000 50000 60000 —3000 2000 —1000 0 1000 2000 3000
Entry$ atl2*CurMon pattern_number ppm

rund797 000 at atl2.png



atr1*CurMon:Entry$

Urniviun

all |

0.04

0.03

0.02

0.01

nllllllllllll

[ I | L 1 | || H1ﬂ3

|
0 100 200 00

rund797 000 at atrl.png

400

500
Entry$

18000

16000

14000

12000

10000

8000

6000

4000

2000

atr1*CurMon {ErrorFlag==0}

evtlree
Entries 412577
Mean 0.05087

Std Dev  0.001224

o

o N

.04

|
0.054 0.056
atr1*CurMon

| | |
0.052

-

0.048 0.05

30000

20000}

10000

10000 {

20000}

30000

40000

asym_atr1/ppm:pattern_number {ErrorFlag==0}

| S5 W
[

| I }
1
O 1
1

1T}
I S

: T }
T 1
| I }
1
I (I

DRy R ﬁi@%i%%iﬁ?‘“ﬁgﬁ

- # L it S #

- 4 e A

- MM #

- s

oo v b b b Ly

0 10000 20000 30000 40000 50000 60000

pattern_number

asym_atr1

n Entries 51521
1?[]__ Mean 17

i L 1 Std Dev 1726
160 l

H Underflow 1.837e+04
‘IED::—l - j | Overflow 1.854e+04

I J-L [ [ IH H T
140 -l_ | 1 ' HH

I | [ 1
130 :__}J
120

_l I 1 1 | I 1 1 |_| | I I | | I I | | I | | I |
-3000 -2000 -1000 0 1000 2000 3000

ppm




atr2*CurMon:Entry$

0.025

0.02

0.015

0.01

0.005

nllllllllllll
0 100 200

rund797 000 at atr2.png

Entry$

18000

16000

14000

12000

10000

8000

6000

4000

2000

atr2*CurMon {ErrorFlag==0}

evtlree
Entries 412577
Mean 0.020186

Std Dev  0.0005912

o T I A

g

0.018 0.019

0.022 0.023

atr2*CurMon

50000

40000

30000

200001

10000

0

10000

20000

30000

40000

asym_atr2/ppm:pattern_number {ErrorFlag==0}

oo SIRRE o B,
%é";“;;§§§;§§;“§“ SRS e
DZI | I'llmlmlﬂl IElﬂflmlﬂl |3lﬂ[|]ﬂlﬂl I4I|J[|]DIUI |5ID[|]DIDI IEIDUUD

pattern_number

150

140

130

1201

110}

90

-3000

asym_atr2

Entries 51521
Mean -8.091
Std Dev 1714

Underflow 1.958e+04

Overflow 1.966e+04

1001}

_IIII|IIII|IIII|IIII|IIII|IIII

i

-2000 -1000

2000 3000
ppm




asym_atll

asym_atl2

asym_atrl

asym_atr2

as

- [
| B -
0.04 —50(
0.03
0.02F |40
0.01F
- 30(
of
-0.01F 20(
-0.02-
~0.03F 100
‘“~“43‘|' | | | | | | | |
| I 1 Y Y T Y ) v o | ,D
-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atll
El"“; 500
- 0.04F
- 0.03F
- —40(
0.02
0.01F
N 30(
oF
_0.01
- 20(
—-0.02
-0.03F 10
~0.04
__Dlﬂﬁ:l|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III ,D
-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atl
dS
| 0.03 —{50¢
0.02
- —40(
0.01F
- 30¢
O
—a.m:— 500
-0.02
- 10
-0.03F
__Dlﬂql_l|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III ,D
~0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atll
| u.mf— —50(
0.03F
- —40(
0.02F
0.01
: 30(
o
~0.01F 20¢
-0.02F
_0.03F 100
—0.04
—I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III ,D

-0.04-0

rund797 000 asym

0 001 0.02 0.Gg 0.04

d

t mutual” corr

as

0.04
0.03
0.02

0.01

—-0.01
-0.02
—-0.03

-0.04

— —50(

—40(

-0.05-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04

as

asym_atl2

= —45¢
- 0.04F
. - —la0(
0.03F
0.00E —35(
0.01E —30(
oE 25(
_0.01F 20(
—ﬂ.nzf— 13(
—ﬂ.naf— 10€
~0.04F 50(
—ﬂ.ﬂ :IlllllIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
03.05-0.04-0.03-0.02-001 0 0.01 0.02 0.03 0.04
asym_atl2
dS
| 0.03 —{a0¢
0.02— —35(
n —30(
0.01
oF
-0.01F
-0.02|
-0.03
—ﬂ.ﬂ _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
96.05-0.04-0.03-0.02-001 0 0.01 0.02 0.03 0.04
asym_atl2
ah— [
n | —45(
| B
0.04F "am
: —40(
0.03F
- —{35(
0.02F
C —30(
0.01
o
—0.01F
-0.02F
-0.03F
- 50
-0.04 "I

as

0.045 50
0.03
" —{40(
0.02F
0.01 - 30
0
—0.01F 20¢
-0.02-
- 10
-0.03F
—-0.04
_I L1 1 | L1 1 1 I L1 11 | L1 11 | L1 11 I L1 11 | L1 11 | [ | ,D
-0.04 -0.03 -0.02 -0.01 0 001 002 003
asym_atri
AS
0.04 - .
0.03F
" —{35(
0.02
- —{30¢(
0.01F
- 25(
0
- 20¢
—0.01 ™
- 15¢
-0.02
_0.03F 100
—0.04F 50
- | |
_,Dn HEEN | 111 1 I 1 111 | L1 11 | 11 11 I 1 1 11 | L1 11 | 1 1 {]
9304 003 —002 —0.01 0 001 002 003
asym_atri
Aas
| 0.031
C —{40(
0.02
- —(35(
0.01 — 30
ol 25(
- 20¢
-0.01
n 15(
-0.02|
. 10(
—0.03 a 500
__Dn _I 1 1 1 | 1 11 1 I 1 1 11 | 1 1 11 | 1 1 11 I 1 1 11 | 1 1 1 1 | 1 1 _D
%%0sa 003 002 001 0 001 002 003
asym_atri
- —{a5¢
0.04F
- —40¢
0.03F
" —(35(
0.02F
" —{30(
0.01F
: 25(
O
- 20¢
—0.01F
- 15(
-0.02F
n 10(
-0.03F
" 50
—0.04
=1 1 1 1 | 1 11 1 I 1 1 11 | 1 1 11 | 1 1 11 I 1 1 11 | 1 1 1 1 | 1 1 _D

-0.04 -0.03 002 001 O 001 002 003

elation-COL7Z.pne

asym_atri

as

- [
_ [
" 0.04F —50¢
0.03
0.02F A0
0.01F
: 30(
0
—0.01F 20(
-0.02-
N 10(
~0.03F -
~0.041 | | | | | | ; | | |
11 11 11 L1 11 1111 111 1111 L1 11 L1 11 1111 1111 ,D
~0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04 0.05
asym_atr2
AS
| n.m;— _las¢
0.03 —40(¢
0.021- —135¢
0.01 —30C
0
~0.01F
-0.02
-0.03F
~0.04F 50
_ﬂhnﬁ;llllII|IIII|IIII|IIII|IIIIIIIIIIIIIIlIIIIlIIII ,D
~0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04 0.05
asym_atr2
s
: [
| 0.03 —45(
N —40(
0.02
- —135(
0.01
" —30(
iy 25¢
o01b 20(
- L 15¢
-0.02|
- 10(
~0.03
i O >0
__DhnqlTllllII|IIII|IIII|IIII|IIIIIIIIIIIIIIlIIIIlIIII ,D

-0.04-0.03-0.02-0.01 0 001 0.02 0.03 0.04 0.05

as

asym_atr2

. —
| n.mf— —45t
0.03F 40
0.02F 3t
0.01F
0
_0.01F
—0.02F
~0.03[
: 50
~0.04F
‘|'|||||||||||||||||||||||||||||||||||||||||||||| _D

-0.04-0.03-0.02-0.01 0 001 0.02 0.03 0.04 0.05

asym_atr2



asym_atll

asym_atl2

asym_atrl

asym_atr2

rund797 000 asym

asym_atll

w2/ ndf 12.02/19 i

p0

p1

-1.727e-06 = 1.434e-06 -

0.9989 = 0.0003 =

0.01

asym_at]2

—0.01

-0.02

-0.03

—'D..nq‘:_lllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—0.04-0.03-0.02-0.01

2
E
—

0

0.01 0.02 0.03 0.04

32/ ndf 18.58 / 29 )
00  _3.747e-05 + 4.066e—05
o1 0.001935 + 0.005235
0.005/— I*
| I I
o- I hﬂﬂﬁ#ﬂ’qﬁmﬁ#ﬂ-ﬁmﬁ IIIIIIIII |
—{].ﬂ{}'&:—
_I||_||||||||||||I|||||||||||||||||||||||||||||||||

—0.05-0.04-0.03-0.02-0.01

asym_at]2

2 { ndf

pl

p0 1.458e-06 £ 1.3759e-06

0 0.01 0.02 0.03 0.04

29.71/29

0.9999 = 0.0002

L)

PR |

- %2 { ndf 10.96/ 19
0.025
- 00  6.5576-05 + 5.665e—05
0.02
E p1 —0.002008 £ 0.010614
0.015F
0.01 }
B - [+
0.005
of I| kII#IJrI#meﬁMmﬁH " IIII g
-0.005 I -
_DLU‘I-I-_IIII_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-0.04-0.03-0.02-0.01 0O

0.015

0.01

0.005

-0.005

—0.01

-0.015

=
III|IIII|IIII|IIII|IIII|IIII|IIII|II

7
IE
—_

0.01 0.02 0.03 0.04

2 | ndf

23.39/19

po 3.025e-05 £ 4.387e-05

pi —0.01407 £ 0.00823

IIII }I Iﬁ#ﬁmwmgﬁﬁIIﬁIIII

h |

} _

0

-0.01

-0.02

-0.03

-0.04

—0.05-0.04-0.03-0.02-0.01

asym_at]2

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

0 0.01 0.02 0.03 0.04

+2 { ndf

ST

36.94 /29

2.706e-05 £ 3.953e-05

—-0.004929 £ 0.005128

[

T

TIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—0.04-0.03-0.02-0.01

asym_at]1

2 ndf

9.134 /18

p0  -1.083e-05x 5.287e-05

0

p1 0.01244 + 0.00988
i III
0 :— J[ III]LIIIIIIWW HE By
-0.0051 I
-0.01
0.015

0.01 0.02 0.03 0.04

|
IIII

-0.04-0

d

fB—D.DE—D.D‘I 0

“mutual correlation-fit

001 0.02 0.0y 0.04

-0.01

-0.012

TTTTTTT TTTTTTTTTTI TTTTTTTTTTI TTTTTTTI
I I I I I I I I I I
1
——

_Dnﬂ14_|-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—-0.05-0.04-0.03-0.02-0.01

0.015 ¥2 | ndf 46.98 / 29
B pO —2.228e 05 £+ 4 7348 05
0.01—
i pl  —0.0003829 + 0.0061360
0.005 I[
{]__ I {I’I-# + II' I
: II IHIIIIII EA IIIIII
-0.005F
—u.m:— _
_D.D15:|-||IIIII||I||||II|||I|||II||||I||||I||||I||||I|||

0 0.01 0.02 0.03 0.04

0.02 0.03 0.04

PIY

0.015(- p0  _2.43e-05 + 3.84e 05
i pl  —0.004639 + 0.005284
0.01
0.005 } ” )
L3 | T———
LA W
-0.005(—
_.D"ﬂ1__IIIII||||I|IIIIIIIIIIIIIIIIIIIIIIIIIIII
~0.04 —0.03 -0.02 -0.01 0 001 0.02 0.03
asym_atrl
00151 42 { ndf 37.28 / 40
001 I p0  2.635e-05 + 4.823e-05
0.005F
- I ! p1 ~0.002158 + 0.006608
B | L i- 'I' T i
il e
-0.005 III -
-0.01F
-0.015
-0.02
:IIIII||||I||||I||||I|||||||||I||||I||||

-0.04 -0.03 -0.02 001 0 0.1

asym_atrl

72 [ ndf

37.31 /40

0.02 0.03

%2/ ndf 42.14 /40 s
p0  —7.998e—09 + 1.028e—06 ____-‘::
p1 0.9993 + 0.0001 -
o
~0.01 f—
—ﬂ.nzf— ____—-':
—u.naf— s

-0.04 -0.03 -0.02 -0.01

asym_atrl

0 0.0

0.02 0.03

22/ ndf 43.26 1 40
00  _1.657e-05 + 4.478e_05
o1 0.004276 £ 0.006126
D005 T
o |+
_0.005
_0.01

IIIIMIII

|

i
|

-0.04 -0.03 -0.02 -0.01

0 0.0

0.02 0.03

asym_at

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

-0.01

-0.012

asym_atr2

ym_atr2

R T—

| I

72 | ndf

30.02 /21

p0  -3.33%e-05 = 4.369e-05

Pl —0.008552 £ 0.007462

III][HIIIIIIIIJr

AT |

—-0.04-0.03-0.02-0.01

0 0.01 0.02 0.03 0.04 0.05

|

%2 { ndf 155/ 21
p0  1.743e-05 = 5.490e-05
p1 0.01717 £ 0.00937
{].D{}'&f— I

o | IIII

—{].ﬂﬂﬁf— }
~0.01 f— 1

015t

0.005

-0.005

-0.01

-0.015

asym_atr2

2 | ndf

p0

pi

IIII’I‘IIII'I' WHIHIIIH.HIII { }

"
|

asym_atr2

—-0.04-0.03-0.02-0.01

0 0.01 0.02 0.03 0.04 0.05

¥< { ndf

pO

21.7721

3.7a7e 05+ 4257e -05

pl —0.0008445 + 0.0072493

| i

et ]

|

-0.04-0.03-0.02-0.01

2823/ 21

—1.005e-06 = 1.434e-06

0.9997 £ 0.0002

0.01

-0.01

-0.02

-0.03

-0.04

0 0.01 0.02 0.03 0.04 0.05

-0.04-0.03-0.02-0.01

0 0.01 0.02 0.03 0.04 0.05




asym_atll

—-0.04

-0.04-0.03-002-001 0O

Al

asym_atl2

-0.03

-0.04

0.01 0.02 0.03 0.04
asym_atll

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
.

-0.05

" -0.04-0.03-0.02-0.01 0

as

| 0.03

0.02

0.01

asym_atrl

—-0.02

-0.03

0.01 0.02 0.03 0.04
asym_atl1

-0.04

-0.04-003-002-0.01 0O

as

asym_atr2

-0.03

-0.04

0.01 0.02 0.03 0.04
asym_atll

rund797 000 asym

‘at mutua

0 001 0.02 0.Gg 0.04

"Corre

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

—0.05-0.04-0.03-0.02-0.01

as

| 0.04
0.02
0.01

0
-0.01
-0.02
-0.03

-0.04

0 001 0.02 003 0.04
asym_atl2

-0.0
—g.ﬂﬁ—{].ﬂd-—{lﬂﬂ—{].ﬂﬁ -0.01

as

| 0.03

0.02

0.01

-0.01
-0.02

-0.03

0 0.01 002 003 0.04
asym_atl?

-0.0
—é.ﬂﬁ—ﬂ.ﬂ4—ﬂ.ﬂ3—ﬂ.ﬂ2 -0.01

as

0.04
0.03
0.02
0.01
0
-0.01
-0.02
-0.03

-0.04

0 001 002 0.03 0.04
asym_atl2

—L‘IE—{].D-#—EH}E—D.DE -0.01

ation-scat.png

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

-0.04

0.02

0.01

-0.01

-0.02

-0.03

-0.04

-0.03 -0.02 001 O

l I l
0.01

0.02 0.03
asym_atri

-00g

as

| 0.03

0.02

0.01

-0.01

-0.02

-0.03

e
B

-0.03 -0.02 001 O

] I ]
0.01

0.02 0.03
asym_atri

'ﬂ‘—nﬁ.m —0.03 -0.02 —-0.01 O

as

0.04
0.03
0.02
0.01
0
-0.01
-0.02
-0.03

-0.04

1 I 1
0.01

0.02 0.03
asym_atri

-0.04 -0.03 002 001 O

1 I 1
0.01

0.02 0.03
asym_atri

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

—0.04-0.03-0.02-0.01

as

| 0.04
0.02

0.01

—0.01
-0.02
-0.03

-0.04

asym_atr2

-0.05

©-0.04-0.03-0.02-0.01

as

| 0.03

0.02

0.01

-0.01
-0.02

-0.03

asym_atr2

-0.04

—0.04-0.03-0.02-0.01

as

0.04
0.03
0.02

0.01

—0.01
—-0.02
-0.03

-0.04

asym_atr2

+I|IIII|IIII|IIII|IIII|IIIIIIIIIIIIIIlIIIIlIIII

—0.04-0.03-0.02-0.01

asym_atr2

0 0.01 0.02 0.03 0.04 0.05

0 0.01 0.02 0.03 0.04 0.05

0 0.01 0.02 003 0.04 0.05

0 0.01 0.02 003 0.04 0.05



